
Table for Computing Line B Table for Computing Line A & B
Class representative 

value
Frequency 

fi
ui fi * ui fi * ui(sq)

Class representative 
value

Frequency 
fi

ui fi * ui fi * ui(sq)

-6  (149.4) 2 -6 -6  (149.4) 2 -6

-5   (149.5) 2 -5 -5   (149.5) 2 -5

-4   (149.6) 4 -4 -4   (149.6) 4 -4

-3   (149.7) 6 -3 -3   (149.7) 6 -3

-2   (148.8) 8 -2 -2   (148.8) 9 -2

-1   (149.9) 11 -1 -1   (149.9) 15 -1

0   (150.0) 12 0 0   (150.0) 18 0

+1   (150.1) 8 1 +1   (150.1) 17 1

+2   (150.2) 5 2 +2   (150.2) 16 2

+3   (150.3) 2 3 +3   (150.3) 15 3

TOTALS 60 -59 329 +4   (150.4) 9 4

+5   (150.5) 5 5

+6   (150.6) 1 6

+7   (150.7) 1 7

TOTALS 60 79 861


